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In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

e v & Ry o Resdl § @ uwr RE
(?) & TUE W A dell TEA B el

NN O

Options:
1) 14

2)18
3)20

4) 24
Correct Answer: 18
Candidate Answer: 18

QID:102-
How many triangles are there in the given figure?

f1 7 sl 3 R Fger ¥

Options:
1)4

2)5
3)6

4)7
Correct Answer: 5
Candidate Answer: 5
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QID: 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 (o 9. A lelter from these matrices can
be represented first by its row and next by its column, for example, ‘Q’ can
be represented by 10, 69, etc., and ‘W’ can be represented by 41, 99, etc.
Similarly, you have to identify the set for the word “DROWN”.

T IeE hae UH HCATWE W GRAT R %, SR 5 fawedf o 4@
et v & T {1 Roedt # e v dwr-gep et & o) aeit
arT gRiiw v ¥, St B Be ow o) sicqg # § ameqe & wae 3R
afey & wEar 0 | 4 § 3R amegEl ® 5 F 91 59 YR W Th HaR
@ oed sah ofs R ae & worw gwan g ogetar S owwer {1
sereror & Ru @ @t 10, 69, S g/ g S wEHAr & AT W @
41, 99, g grr gefar s whar €1 S0 ote @ Jum ux A U g
“DROWN"” & o0 WE & uedi==n &I

Matrix-1 Matrix-ll

-l 3Tl
0(1]2(3]|4 516|789
O|A|T|E|H]|J S5|Y|T|H|R|F
11Q|O|H|L|S 6|G|IR[P|L|Q
2IWIN|T|K|D 71T O|U|N|M
3|J|C|Z|A|F S|D|F|[R|Q|J
4 [ M|W|A|P|G 9|S|RIL|N[W

Options:
1) 11, 56, 77,99, 79

2) 85, 58, 77, 41, 98
3) 24, 87, 76, 20, 21

4) 23, 57,76, 99, 21
Correct Answer: 24, 87, 76, 20, 21
Candidate Answer: 24, 87, 76, 20, 21

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o SR Apfadl # B 5§ IR g & gew
form & oy sl @R &

[
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Options:
1)

2)

3)

4)

D [

Correct Answer:

X

Candidate Answer:

X

QID : 105 -
Which answer figure will complete the pattern in the
question figure?

Bid W 3T HHA TH @A & TawT Bl g
HLIN?

~J
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Options:

1)

L]

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 106 -

If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE T SUUT @ AB T@m W T@T oW, ar & e
TR GO # ¥ Aig W gt v ey &
Ta ufataea arefi?

A B

e Y
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Options:
1)
2)
3)

4)

Correct Answer:

Candidate Answer:

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A & oy Ipfod A REm 3gER Fee @
HSHT Dead TUT Tield & a1% g€ A 3K ES
s feard dame

.-.&-- o |__‘_|
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Options:

[

2)

3)

—
 —

4)

—

Correct Answer:

 —

Candidate Answer:

—

QID : 108 - What will come in place of question mark (?) in the given equation?
80242872928
T T FHTEROT 7 g2 e (?) & TATT 9 AT HTTM?

80242829728

Options:

1) x, +, <and +

X, +, < AT +

2) +, >,xand +

+, >, X dar +

3)+,—, +and =

+, -, + AT =

4)x, +, +and =

X, +, +dqT =

Correct Answer: +, >, xand +
+, >, X dur =

Candidate Answer: +, >, x and +
=, >, X T =

QID:109-1f5$4@3=23and6$3@9=27,then7$4@6=7?

AT 5$4@3=23aM6$3@9=278,AN7$4@6="?
Options:

1) 32

2)20

3)27

4) 34

Correct Answer: 34

Candidate Answer: 34

pe 4
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Mason
2. Mede

3. Magic
4. Mayor
5. Marsh

AT eral # AsgHI 7 3 AT FA & FIER o |

1. Mason
2. Mede

3. Magic
4. Mayor
5. Marsh

Options:
1) 31452

2) 32145
3) 35142

4) 51342
Correct Answer: 35142
Candidate Answer: 35142

QID : 111 - In the following question, select the missing number from the given series.
4, 10, 18, 24, 32, 38, 46, ?
fAEtafld yea # fow av fashedl & § o 3 A S

4,10, 18, 24, 32, 38, 46, ?
Options:

1) 50

2)52

3)54

4) 56
Correct Answer: 52
Candidate Answer: 52

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AB, ZY, CD, XW, EF, ?
Teh 37eTehe &1 T &, T8 & Uh e oo ¢ faU I1C fashedl @ a¢ WEl fashed AT, SiT 3TTshal I U |

AB, ZY, CD, XW, EF, ?

Options:
1) UV

2) VW
3) Wy

4) VU
Correct Answer: VU
Candidate Answer: VU

QID : 113 - In the following question, select the odd word from the given alternatives.

TrATafad 9o # 7o ¢ fashedl # @ favwe ase &1 gi=w|
Options:

1) Iron

T

2) Gold

b

3) Silver

ey

4) Potassium

g

Correct Answer: Potassium

g iR

Candidate Answer: Potassium

e
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QID : 114 - In the following question, select the odd number pair from the given alternatives.

TerAfafad 9o # fow 91e fashedl & fave dear 3o &1 giww)
Options:
1) 11, 13
2)17,19
3) 41, 47

4) 31,37
Correct Answer: 41, 47
Candidate Answer: 41, 47

QID : 115 - In the following question, select the odd letters from the given alternatives.

TAeAfafad gea 3 fow 91w fashedl F & favs 3Rt ¥ giav

Options:

1) DG)

2) MPS

3) TVY

4) FIL

Correct Answer: TVY
Candidate Answer: TVY

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Male, Father, Doctor
TE IR AT i = T 1w a9t & frer & Haier b7 el foreaor hetr ¢

g%y, foan, frcs

Options:
1)

ceRClNEE

Correct Answer:

g

Candidate Answer:

S
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QID : 117 - In the following question, select the related word from the given alternatives.
Up:Down::Fat:?
TerATafad gea # feu e faswhedt 7 @ Heferd e 1 giav|

FR:A AT ?
Options:

1) Tall

oTFeT

2) Short

orer

3) Huge

Tarrer

4) Thin

qdell

Correct Answer: Thin
IefelT

Candidate Answer: Thin

gdelr

QID : 118 - In the following question, select the related number from the given alternatives.
24:16::28:?

feafafad wea # v are fasred! 7 & Fafta dear # g

24:16::28:?

Options:

1) 64

2) 49

3)25

4) 100
Correct Answer: 64
Candidate Answer: 49

QID : 119 - In the following question, select the related letters from the given alternatives.
GIN:HGQ::AFD:?

et gea # U a1v et & & Fefra 3R i gfaw)

GIN:HGQ::AFD:?

Options:

1) BDG

2) CEH

3) CDH

4) BDH
Correct Answer: BDG
Candidate Answer: BDG

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

MONTESSORI

TFrATafad fasmedt 3 & a5 Wse IiAT Sit 14T 7T 2ree; o 37&RT T TEHIET Feh 61 oA ST HebelT|
MONTESSORI

Options:

1) SORT

2) MORE

3) MOUSE

4) NEST
Correct Answer: MOUSE
Candidate Answer: MOUSE

QID : 121 - Kamal is father of Sampat. Sampat is son of Rajni. Roshni is sister of Rajni. Rashmi is daughter of Roshni. How is Roshni related to Sampat?

. o o PPN

3Pt ki e ot = -y 7 iy |

FHA. TFIA T TUaT ¥ TFId. o
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Options:
1) Wife
et
2) Sister
gET
3) Aunt
At
4) Mother
HATAT
Correct Answer: Aunt

Eiis)

Candidate Answer: Aunt

Hidr

QID : 122 - Raj walks 25 km towards west. He turns right and walks another 25 km. He turns right and walks another 25 km. In which direction is he from his
starting point?

ST ARYH &Y 3R 25 .0 Tolcll &1 9 &Rt AR Fzar § a2 25 Bl 3R e §1 9 gl 3R Fgar § @ 25 Bl 3R gedr §1 98 e 3R foeg @ v feam
#g?

Options:

1) East

kS

2) West

gf¥as

3) North

3}

4) South

gfayor

Correct Answer: North
EIT3EY

Candidate Answer: North
EI3E8

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some rocks are brown.
II. Some brown are round.

Conclusions:
1. Some brown are rocks.
II. Some round are rocks.

oA T 10 e & F HUA IR 3eAh 9IS 3o YAl W IR Fov Tohd v arw §, grenifes 3o e wrer aeal § Bewtar gt genchh §1 wh vy ug 3ik fie
freiie ¥ o faw a1e il & forsa, fow 1w aR@iT 3 TR R gireawerd

HYeT:
L %8 TR M T
IL To X M 21

sy

L 38 IR €

I1. o 7T TR &

Options:

1) Only conclusion (I) follows.

ael fasny (1) T &1

2) Only conclusion (II) follows.

Fraer forsa (I1) w8 &1

3) Both conclusion follow.

2t & sy T €

4) Neither conclusion (I) nor conclusion (II) follows.
1 o ey (1) 7 & sy (1) adr 81

Correct Answer: Only conclusion (I) follows.
et forssny (1) T &1

Candidate Answer: Only conclusion (I) follows.

Faer sy (1) TEr 8

QID : 124 - In a certain code language, “BAT"” is written as “25"” and “"BIN” is written as “27"”. How is "GUN" written in that code language?

T fafse i AT &, “BAT” &7 “25” qr “BIN” &1 27" for@r SI1ar §1 39 &g AT 7 “"GUN” & fore g forar smeen?

== 2 =i o 4 1




11/22/2017 Staff Selection Commision

Options:
1) 45

2)43
3)42

4) 44
Correct Answer: 44
Candidate Answer: 44

QID : 125 - In a certain code language, “THIN" is written as “SGHM". How is “JUKE" written in that code language?

U fafrse iz s &, “THIN” &1 “SGHM"” for@r SiTar €1 59 13 H91 & “JUKE” &Y 3 waR forar siream?

Options:
1) ITID

2) ISID
3) IVIF

4) ITIF
Correct Answer: ITID
Candidate Answer: ITID

QID : 126 - If 635P61 is completely divisible by 9, then what is the value of P?

afg 635P61, 9 & qoie: fasnfera §, & P &1 A 7w gem?

Options:
1)3

2)5
3)6

4)8
Correct Answer: 6
Candidate Answer: 6

QID : 127 - Which smallest number must be added to 300, so that the resulting number is completely divisible by13?

300 # Y wieT ¥ W S Wewr SIS S, arfes aRuner gEAr 13 & guia: fasntsd & sre?

Options:

1)1

2)12

3) 10

4)9

Correct Answer: 12
Candidate Answer: 12

QID : 128 - The sum of three consecutive even integer is 126. Which is the least integer among them?

T AT o qUTtent &7 2T 126 §1 3937 § T BIeT Yoiier FieT AT §?

Options:
1) 38

2) 44
3)42

4) 40
Correct Answer: 40
Candidate Answer: 40

QID : 129 - A number exceeds its 1/9 by 64. What is the number?

T TEIT 39+ 1/9 | 64 3TOF & g AT 747 87

Options:
1) 90

2)81
3)72

4) 180
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Correct Answer: 72
Candidate Answer: 72

QID : 130 - If the difference of two numbers is 5 and the difference of their square is 125, then out of the two which is the smaller number?

T & TEAT3Tt T AR 5 § 2T 3oToh 9T T 3T 125 §, ¥ At 7 T BT T&ar i @ g?
Options:

1) 15

2)12

3)20

4) 10
Correct Answer: 10
Candidate Answer: 10

QID : 131 - What is the value of 0.00140?

0.00140 =T AT &7 87
Options:

1) 14/100

2) 14/1000

3) 14/10000

4) 14/100000
Correct Answer: 14/10000
Candidate Answer: 14/10000

QID : 132 - A can do a piece of work in 24 days. If B is 50% more efficient than A, then in how many days can B do the same work?

A Torel R Y 24 feT 7 X TehelT &1 AT B 1 1T &TAAT A | 50% 31706 &, ot 3¢ Rt 1 B fonctet Tt & svvam?

Options:
1)12

2) 16
3)18

4) 15
Correct Answer: 18
Candidate Answer: 12

QID : 133 - P can do a piece of work in 15 days and Q in 20 days. With help of R, they finish the work in 5 days. In how many days R alone can do the same work?

P Ty SRY 1 15 Rt # ¢ Fehar & 31T Q, 20 AT 3 T Tehar &1 R 7 T ar ¥ & 5 el 7 & @A ¢ o §1 R 31T 380 R Y ey et & wyem?
Options:

1) 10

2)12

3) 15

4) 18

Correct Answer: 12

Candidate Answer: 12

QID : 134 - The lengths of two diagonals of a rhombus are 10 cm and 24 cm. What is the area (in cmz) of the rhombus?

U FAAGHS ¥ aF vl & s 10 9. T 24 FAL. §1 GEAgHe F avwe (.2 ) Far 2

Options:

1) 60

2)90

3) 120

4) 240

Correct Answer: 120
Candidate Answer: 60

QID : 135 - The marked price of an article is twice the cost price. For a gain of 50%, what should be the discount percentage?

T T 1 3R o SHRT ARTd Hed W AT 81 50% WY 9red et & T, g ufaerd w2 geire

=== 2 =i o 4 1
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Options:
1) 25

2)20
3)30

4) 50
Correct Answer: 25
Candidate Answer: 25

QID : 136 - The marked price of an article is Rs 1840 and is sold at a discount of Rs 368. What is the discount percentage?

Teh & T 3ifehcd Hed 1840 T & T 3/ 368 T T T T ST STl | B T Tlcrered 4T §7?

Options:
1) 15

2)20
3) 25

4) 30
Correct Answer: 20
Candidate Answer: 20

QID:137-IfA:B=4:5andA:C=2:3,thenwhatis(A+B): (B +C)?

AXA:B=4:5aaTA:C=2:3% ar(A+B): (B+ C)Fargam?

Options:
1)9:11

2)10:9
3)9:10

4)11:9
Correct Answer: 9: 11
Candidate Answer: 9 : 11

QID: 138 - If A/2 = B/3 = (/5, then whatisA: B : C?

afe A/2 = B/3 = C/58, aTA: B: Caargem

Options:
1)2:3:5

2)3:2:5
3)3:5:2

4)5:3:2
Correct Answer: 2:3:5
Candidate Answer: 2:3:5

QID : 139 - The mean of 22 numbers is 19. If two numbers 23 and 11 are removed, then what will be the mean of remaining number?

22 FEan3it & 3T 19 ¥ IfE e FEan? 23 gt 11 1 gel f&ar S, oY 9 deansit i siad 4 gem?
Options:

1) 18.6

2) 19.2

3) 19.4

4)18.2
Correct Answer: 19.2
Candidate Answer: 19.2

QID : 140 - If the cost price of 5 articles is equal to the selling price of 8 articles, then what is the loss percentage?

g 5 w3t 1 77 7ed 8 T3 & o Hed & aUe ¢, aF gifer sfcrera aw=am grem?

Options:
1) 60%
2) 40%
3) 37.5%
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Correct Answer: 37.5%
Candidate Answer: 37.5%

QID : 141 - A man gains 30% by selling an article for a certain price. If he sells it at double the price, then what will be the profit percentage?

Teh ] i fohdll AR Fed TN St Teh ca el 30% o137 HATC &1 I a6 3T G il Q[T Shlerel TR o, @l S1eT hT FTcIel &7 gram?
Options:

1) 160

2) 130

3) 120

4) 140
Correct Answer: 160
Candidate Answer: 160

QID : 142 - If the price of an article is decreased by 20%, then to restore its former value by what percent should the new price be increased?

Tl 3 % FeT 7 20% 1 Fl 31 SR B, A TG F 7T H I WA F FAC 7 He Hl ekt Tfaiere sgrar gram?

Options:
1) 20

2) 25
3)10
4)12.5

Correct Answer: 25
Candidate Answer: 25

QID : 143 - If B got 25% marks less than A, then the marks of A is how much percent more than that of B?

I B AW 25% mﬁmmgu,ﬁAésﬁB%ﬂaﬁ@ﬁmﬁmmm%‘?

Options:
1) 20

2)25
3) 50

4)33.33
Correct Answer: 33.33
Candidate Answer: 33.33

QID : 144 - Speed of a boat along the current and against the current are 12 km/hr and 6 km/hr respectively. What is the speed of boat (in km/hr) in still water?

Tehy 1 T 1Tl RT3 Jefehel AT RT & Ficieher fe=im 3 shaver: 12 .ol /der am 6 foh. . /eier &1 i sier 3 =g v a1fey (1.0, /eier &) a/am &7
Options:

1)3

2)6

3)9

4)12

Correct Answer: 9

Candidate Answer: 9

QID : 145 - A person goes from point A to B and comes back. His average speed for the whole journey is 65 km/hr. If his speed while coming back from B to A is
40 km/hr, then what will be the speed of the person (in km/hr) while going from A to B?

Teh Ao foig A W B ST & 7T aTord 317 ST &1 0 A o Telw 3@eht it a1far 65 foh.af. /eier &1 afe B & A 3111 & 3@k 91fcr 40 fom.a./eier §, oY A 9 B e Tiet 3
39 safed S afer (Fr.af./der ) T gl

Options:

1) 90

2)173.33

3) 104

4) 112

Correct Answer: 173.33
Candidate Answer: 90

QID : 146 - Same principal is invested in schemes of compound interest and simple interest. The interest obtained in compound interest and simple interest
schemes for two years are Rs 660 and Rs 600 respectively. If the rate of interest is 10%, then what is the principal (in Rs)?

AT HerH Thgfg saTer 3N ATURET sa1eT i Aieten3it 3 Fraer frar S &) =g fg sarer iR ATURoT sa7e Aistel # gEy av & sarst FHaAr: 660 T 3R 600 T sarer
wTed e §1 9 saet &% 10% g, & A (% ) F=w §?

=== 8 =i pez: 4 1




11/22/2017 Staff Selection Commision

Options:
1) 5000
2) 6000
3) 3000
4) 2500

Correct Answer: 6000
Candidate Answer: 3000

QID:147 -
The bar chart given below shows the number of cars
sold by brand A and B for the years for 2008 to 2016.

#rr T o7w gve R & 39 2008 ¥ I 2016 O

FUE A 9UT FIUE B F I §= 95 FRT A TEAT H

T 73T 2l
BRrand A/ FUS A UBrand B/ §ue B

S 2

5 B 20007 & © o

. - 2 8 S o

0 T Eg 3 o o

54 150073 |3 S = 23

O S| = - -

[ o o

gE 1000 - S |2

o ~

s g

E o 500 -

2%

0_
o [@)] o — [a] [ap] h [Te] ({w]
o o - - - - — -
o o o o o o (en] o o
(o] N N N N o (Y] N o
Year /9§

What is the percentage decrease in the number of car sold in year 2015 from year 2014 for brand A?

U8 A & T, af 2015 ﬁazﬁméam%@rmﬁaérzomﬁéﬁa@mﬁ@rd@m@ﬁmﬁqﬁemﬁmgm

Options:
1) 50

2) 20
3) 25

4)33.33
Correct Answer: 33.33
Candidate Answer: 33.33
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QID: 148 -
The bar chart given below shows the number of cars
sold by brand A and B for the years for 2008 to 2016.

#Fr BT 9T gvE R # I 2008 ¥ I¥ 2016 O
U A d7 §IVE B &F I =1 1 T Hr gE&am Fr
ZATAT AT

BRrand A/ FUS A UBrand B/ gve B
(an]

]
o
o
=]
1720
184

k=) =) o
o w8 S o
o & 1500 1] ol | 1 T8 @ 3 g
Bi=] ~ o W
5 & gl |2 & 5 B
Q. 2 -— -~
Yo o Q
gEmoo— S |3
P~
[<}]
s ¥
£, 500
Z
0_
o (@)} o — o [ap] <r 0 w
0 O = T - - = — —
o o o (an] o o o o o
(Y] N N N (Y] o (Y] o~ o
Year / 9§

In how many years, the number of cars sold by brand A is more than the number of cars sold by brand B?

ey st #, sTUs A gaRT 9=t o1S HRT T TEAT 5105 B ganT o7 375 HRI Hr HEAr ¥ 740w §?

Options:
1)1

2)2
3)3

4)5
Correct Answer: 2
Candidate Answer: 2
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QID: 149 -
The bar chart given below shows the number of cars
sold by brand A and B for the years for 2008 to 2016.

#Fr BT 9T gvE R # I 2008 ¥ I¥ 2016 O
U A d7 §IVE B &F I =1 1 T Hr gE&am Fr
ZATAT AT

BRrand A/ FUS A UBrand B/ gve B
(an]
O <t
Q il S o= S o
3 o = ﬁ:&%v- §; o o
= & 1500 18| 8 & < 3 3
Q. ‘(2 -— - b
S 5 1000 - 3|2
4]
o
E o 500 -
Z%
0 i
o [@)] o — o [ap] <r 0 [{n]
0 O = T - - = — —
(o] o o o o [en] o o o
(o] N N N (Y] o (ot} N o
Year / ¥

In which year from 2008 to 2016, the combined sales of brand A and B is maximum?

a¥ 2008 ¥ 2016 ds, T a¥ & §1vs A AT 5198 B i @A foshr gad 31f8s 872

Options:
1) 2008

2) 2009
3) 2012

4) 2016
Correct Answer: 2009
Candidate Answer: 2009
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QID: 150 -
The bar chart given below shows the number of cars
sold by brand A and B for the years for 2008 to 2016.

#Fr BT 9T gvE R # I 2008 ¥ I¥ 2016 O
U A d7 §IVE B &F I =1 1 T Hr gE&am Fr
ZATAT AT

BRrand A/ FUS A UBrand B/ gve B
(an]
O <t
Q il S o= S o
o & 1500 1ol | gl | 0 =84 2 2 8
g% 15088 [ & 28
Y 1% A ol | &
S E 1000 - S | 2
4]
2w
E o 500 -
Z%
0 _
o [@)] o — o [ap] <r 0 w
0 O = T - - = — —
(o] o o o [en] o o o
(o] N N N (Y] o (Y] N o
Year / ¥

The total sales of the two brands in year 2015 is what percent of the total sales in 2016?

a¥ 2015 # alelt s1ost i Fer kT a¥ 2016 ﬁgégm%aﬁra:rmmqﬁ%m%?

Options:
1)82.5

2) 86.5
3)87.5

4)79.5
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QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Either father or his sons tea.

Options:
1) makes

2) make
3) has made

4) is making
Correct Answer: make
Candidate Answer: makes

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

A small income is preferable no income at all.

Options:

1) to

2) this

3) of

4) from

Correct Answer: to

Candidate Answer: to

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Glare

Options:
1) Dazzle

2) Dullness
3) Boredom

4) Lifelessness
Correct Answer: Dazzle
Candidate Answer: Boredom

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Mimic

Options:
1) True

2) Authentic
3) Pure

4) Imitator
Correct Answer: Imitator
Candidate Answer: Imitator

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Patrol

Options:
1) Ignore

2) Unconcern
3) Neglect

4) Inspect
Correct Answer: Inspect
Candidate Answer: Inspect

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Committed
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Options:
1) Dedicated

2) Devoted
3) Faithful

4) Uncertain
Correct Answer: Uncertain
Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Erode

Options:
1) Eat

2) Destroy
3) Spoail

4) Fix
Correct Answer: Fix
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Curb

Options:
1) Chain

2) Freedom
3) Control
4) Brake

Correct Answer: Freedom
Candidate Answer: [ NOT ANSWERED ]

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Root and branch

Options:
1) Half of something

2) Quarterly
3) Nothing at all

4) Totally
Correct Answer: Totally
Candidate Answer: Nothing at all

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

White lie

Options:

1) Truth

2) Hidden truth
3) Hidden truth
4) Hidden lie

Correct Answer: Hidden lie
Candidate Answer: Hidden lie

QID : 163 - Improve the bracketed part of the sentence.

They (are) also pitched in to help in a major way.

Options:
1) have

2) had
3)is

4) No improvement
Correct Answer: have
Candidate Answer: have
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QID : 164 - Improve the bracketed part of the sentence.

Indian restaurants (distributing food), Indian businesses are throwing open their premises to provide accommodation.

Options:
1) were distributing food

2) are distributing food
3) should distributing food

4) No improvement
Correct Answer: are distributing food
Candidate Answer: are distributing food

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Honesty and uprightness of character

Options:
1) Asperity

2) Alacrity
3) Integrity

4) Authority
Correct Answer: Integrity
Candidate Answer: Asperity

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

The murder of one’s mother

Options:
1) Suicide

2) Fratricide
3) Germicide

4) Matricide
Correct Answer: Matricide
Candidate Answer: Matricide

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Eligible

2) Eligble
3) Elegeble

4) Elegible
Correct Answer: Eligible
Candidate Answer: Eligible

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Etikate

2) Etiquette
3) Ettiquette

4) Etiquete
Correct Answer: Etiquette
Candidate Answer: Etiquete

QID : 169 - Rearrange the parts of the sentence in correct order.

The Gorkhas

P: made their presume felt in
Q: India in the 19t century

R: battles against the British in
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Options:

1) PRQ

2) QPR

3) QRP

4) PQR

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 170 - Rearrange the parts of the sentence in correct order.

Fresh air and clean water are

P: life but nothing of both

Q: is possible in the modern time
R: two most basic needs to sustain

Options:

1) PQR

2) RPQ

3) RQP

4) QPR

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Technology these days has advanced our lifestyle. Things have become so . Technology is being used everywhere and in everything. Several devices have
been introduced like laptops and tablets. Each of them have their own versions with even more advanced apps. Such devices help us finish of work with
ease, but using such devices even in fields of education might affect the habits of students.Schools have started introducing the idea of using tablets for taking down
notes, writing simple tests and their projects. This gets the mind of a student completely in technology and they tend to the use of books. Earlier
students did not have the idea of using internet to browse information about different topics and were dependent completely on books which resulted in a very good
vocabulary, but students these days do not have much of a vocabulary.

Things have become so

Options:
1) easy

2) difficult
3) uncontrollable

4) irrational
Correct Answer: easy
Candidate Answer: easy

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Technology these days has advanced our lifestyle. Things have become so . Technology is being used everywhere and in everything. Several devices have
been introduced like laptops and tablets. Each of them have their own versions with even more advanced apps. Such devices help us finish of work with
ease, but using such devices even in fields of education might affect the habits of students.Schools have started introducing the idea of using tablets for taking down
notes, writing simple tests and their projects. This gets the mind of a student completely in technology and they tend to the use of books. Earlier
students did not have the idea of using internet to browse information about different topics and were dependent completely on books which resulted in a very good
vocabulary, but students these days do not have much of a vocabulary.

finish of work

Options:

1) class

2) loads

3) our

4) group

Correct Answer: loads
Candidate Answer: loads

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Technology these days has advanced our lifestyle. Things have become so . Technology is being used everywhere and in everything. Several devices have
been introduced like laptops and tablets. Each of them have their own versions with even more advanced apps. Such devices help us finish of work with
ease, but using such devices even in fields of education might affect the habits of students.Schools have started introducing the idea of using tablets for taking down
notes, writing simple tests and their projects. This gets the mind of a student completely in technology and they tend to the use of books. Earlier
students did not have the idea of using internet to browse information about different topics and were dependent completely on books which resulted in a very good
vocabulary, but students these days do not have much of a vocabulary.

writing simple tests and

Options:

1) depleting
2) deleting
3) completing
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Correct Answer: completing
Candidate Answer: completing

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Technology these days has advanced our lifestyle. Things have become so . Technology is being used everywhere and in everything. Several devices have
been introduced like laptops and tablets. Each of them have their own versions with even more advanced apps. Such devices help us finish of work with
ease, but using such devices even in fields of education might affect the habits of students.Schools have started introducing the idea of using tablets for taking down
notes, writing simple tests and their projects. This gets the mind of a student completely in technology and they tend to the use of books. Earlier
students did not have the idea of using internet to browse information about different topics and were dependent completely on books which resulted in a very good
vocabulary, but students these days do not have much of a vocabulary.

they tend to the use of books.

Options:
1) memorize

2) initiate
3) relate

4) forget
Correct Answer: forget
Candidate Answer: forget

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Technology these days has advanced our lifestyle. Things have become so . Technology is being used everywhere and in everything. Several devices have
been introduced like laptops and tablets. Each of them have their own versions with even more advanced apps. Such devices help us finish of work with
ease, but using such devices even in fields of education might affect the habits of students.Schools have started introducing the idea of using tablets for taking down
notes, writing simple tests and their projects. This gets the mind of a student completely in technology and they tend to the use of books. Earlier
students did not have the idea of using internet to browse information about different topics and were dependent completely on books which resulted in a very good
vocabulary, but students these days do not have much of a vocabulary.

not have much of a vocabulary.

Options:
1) bad

2) good
3) worst

4) ruthless
Correct Answer: good
Candidate Answer: good

QID : 176 - How is per capita income calculated?

gfer safera 3 r AorT W 6 ST 8?2
Options:

1) Net Income/Population

UG 3 [ STTHEar

2) Wealth tax/population

T Y | STTHET

3) Income tax/Population

AR [ FAEEAT

4) National Income/ Population

TSERT 3T / STeaeear

Correct Answer: National Income/ Population
TSET 3T | S8

Candidate Answer: National Income/ Population
TSERT 31 [ STAEHEAT

QID : 177 - Which of the following is/are required to get more income by the people?

Arfaf@a 7 & & #eif ganr 31fRs 3 area e & fov anfse §2
Options:

1) Better price their produce

Seure & AT 9EeR 7o

2) Continous job

oRE AT

3) Better wages

X I

4) All options are correct

o fFeT Tl &
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Correct Answer: All options are correct

Tl RpeT T

Candidate Answer: All options are correct

ol RereT @ &

QID : 178 - Under which article does the President declares National Emergency in India?

AR F Iogafel fhe 3eTeoe & Jiaeia ISgT T’ Sfte e 82
Options:

1) Article 1

ST 1

2) Article 100

3gede 100

3) Article 352

e 352

4) Article 80

T 80

Correct Answer: Article 352
30 352

Candidate Answer: Article 352
3eedg 352

QID : 179 - Which Article of Indian Constitution deals with ‘Rights to Education'?

“TRIETT T HTURR T egrEaT R iatT & 6y e 7 H s 82
Options:

1) Article 15

3T 15

2) Article 18

3o 18

3) Article 21a

3o 21a

4) Article 26

IeTedE 26

Correct Answer: Article 21a
3RS 21a

Candidate Answer: Article 21a
3o 21a

QID : 180 - Where did Gautama Buddha taught for the first time?

T g 7 19T TGOl 3US FEl fear AT
Options:

1) Bodh Gaya

e arar

2) Lumbini

FfFar

3) Sarnath

AR

4) Kushinagar

FMAT

Correct Answer: Sarnath
HRATRT

Candidate Answer: Sarnath
ARSI

QID : 181 - Who was the last of the powerful Mughal rulers?

AT STERITET 7 I ATFRITN areirg it 417
Options:

1) Akbar

3fehel¥

2) Shah Jahan

QMTESTET

3) Jahangir

SRR

4) Aurangzeb

3iReee

Correct Answer: Aurangzeb

e
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Candidate Answer: Akbar
3hel

QID : 182 - What is a strait?

Teh ST T 87

Options:

1) A narrow strip of land joining two landmasses

Tl T Ueh W H1ET i1 &7 93 T A T Teh G & SISl &

2) A narrow strip of land joining two water bodies

T FT Teh HFT AT ST 3T STORIA T T GaAY & sl §

3) A narrow passage of water connecting two large water bodies

ST T T R AT ST &1 TET STORTRY i T G@x & Shge &

4) A narrow passage of water connecting two landmasses

TeR T T FHT ST S &Y T s Y v gE F Shsar §

Correct Answer: A narrow passage of water connecting two large water bodies
GTeAT T Teh HhT $19T it &T ST STORITRY 3l Ueh gaR @ Siigar &

Candidate Answer: A narrow passage of water connecting two large water bodies

AT T Tes TR T ST &1 F3T SToRIY I U G & A5 §

QID : 183 - Which is the largest ocean of the world?

32T T HIH TIT AGAER hieT A 57
Options:

1) Indian Ocean

g HGIHIR

2) Atlantic Ocean

Jcaifes AR

3) Pacific Ocean

SRITT HEERR

4) Southern Ocean

giah FpraeR

Correct Answer: Pacific Ocean
SRITT HGHER

Candidate Answer: Pacific Ocean
ATl FETHER

QID : 184 - What is the surroundings in which organisms live called?

e Tslta o Tg=Y arel IRALT &l T hgd 87?7
Options:

1) Adaptation

SETS

2) Abiotic component

39T "geh

3) Habitat

3ara

4) Biotic component

39 HTHh

Correct Answer: Habitat

mara

Candidate Answer: Biotic component
Sig 'eF

QID : 185 - Which of the following wavelength of light is absorbed the most for photosynthesis?

eI T et T AT SEF U1l TLON0T & T Fad 31T 3@ $r S §2
Options:

1) White light

AT THTA

2) Blue light

AT weprer

3) Green light

[RUREAN]

4) Orange light

ARG gepTer

Correct Answer: Blue light
AT Jeprer

Candidate Answer: Blue light
el srerer
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QID : 186 - Small uper chambers of heart are called

e 7 I3 F oI Fat gl AT &
Options:

1) Atria

wefar

2) Ventricles

Jfgerer

3) Septums

AIcHT

4) Aorta

3T

Correct Answer: Atria

vefar

Candidate Answer: Ventricles

dfeeFer

QID : 187 - Which device is used to test whether an object is carrying charge or not?

%wam%ﬁmmﬁ#ﬁv%mm%%ﬁéa@ma%maﬁ?
Options:
1) Thermometer
UHTHET
2) Stethoscope
LREicea
3) Odometer
Y
4) Electroscope
fagadesit
Correct Answer: Electroscope
3— ﬁ
Candidate Answer: Electroscope

Z ﬁ
QID : 188 - If the reflecting surface of a spherical mirror is convex, then itis a mirror.

Ty RRElT e foT T TG 56 Sl &, A sH - qUoT gl &2
Options:

1) Convex

3cdel

2) Concave

3ddel

3) Plane

HHIT

4) Planoconvex

HATA e

Correct Answer: Convex
3cddel

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - Which of the following pair is INCORRECT?

fAEAfaT@a A & et AT o I7eiel 82
Options:

1) 1 KB = 8196 bits

1. &T. = 8196 faew

2) 1 KB = 8000 bits

1%, &1, = 8000 focw

3) 1 MB = 1024 KB

10a. & = 1024 &. &1,

4) 1 GB = 1024 MB

1 SiET. = 1024 T, &,

Correct Answer: 1 KB = 8000 bits
1%, &1, = 8000 focw

Candidate Answer: 1 MB = 1024 KB
1w, ) = 1024 . &Y.

QID : 190 - Metals generally form .

TV AHAT: e Fel B

== 2 =i o 4
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Options:
1) Basic oxides
TR 3iTFaTss
2) Acidic oxides
3N 3TFaTSs
3) Neutral oxides
3ol 3iferargs
4) Both basic and acidic oxides
ST T 31 el HTFaTSs alar
Correct Answer: Basic oxides
& 3itaTss
Candidate Answer: Both basic and acidic oxides

ST T 3l iferaTgs el
QID : 191 - The absolute charge of the electron is )

SoIEIeT T 0T FHR Frar |
Options:

1) 1.1 x 1022C

2) 1.6 x 1014C

3)1.6x 1019

4)6.0 x 1024C

Correct Answer: 1.6 x 10712
Candidate Answer: 1.6 x 10719

QID : 192 - Which one of the following is not among the three R's to save the environment?

AR F F Pl qaTeRer & T@a & A I 3§ § e 6T 2
Options:

1) Reduce

S

2) Recover

Ry

3) Recycle

Rarsser

4) Reuse

gzt

19
Correct Answer: Recover

Reaw

Candidate Answer: Reduce

T

~o
QID : 193 - Which among the following scheme aims to provide 24 x 7 uninterrupted electricity supply to each rural household across the country by 2022?

2022 &% &2 #R H T ATAoT IRaR @ 24 x 7 et fasrelr st veer w3 & fov Pafaf@a 3 & sl €@ dieer @ o g2
Options:

1) Deendayal Upadhyaya Gram Jyoti Yojana

el 3UTEAT ATH AT At

2) Pradhan Mantri Vidyut Vikas Yojana

3) Unnat Jyoti by Affordable LEDs for All

oA SA ST ThEed Tol.$.2Y. BIX 3T

4) Ujwal DISCOM Assurance Yojana

3ooiact EERTH TRANH AlsTr

Correct Answer: Deendayal Upadhyaya Gram Jyoti Yojana
EIeaTe 3UTET I FAT A=

Candidate Answer: Ujwal DISCOM Assurance Yojana
Iooiad farea weaky Aetar

QID : 194 - Who discovered the double helical structure of DNA?

SLUA.T. T Aled TGN HT T Tiet fohet dr?
Options:

1) Rosalind Franklin

Trafds e

2) Maurice Wilkins

Aifve fafeqa

3) James Watson and Francis Crick
S arede 3R wIfad fohe

4) Freidrich Meischer

HIefe dax
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Correct Answer: James Watson and Francis Crick

S greasT 3R wifaw e

Candidate Answer: James Watson and Francis Crick
SIF aTedsT 3R wife he

QID : 195 - Who is the current head coach of the Indian cricket team?

AR ke ST &7 T ST i Hief 82
Options:

1) Anil Kumble

st gt

2) Ravi Shastri

T T

3) Gary Kirsten

M weéa

4) Greg Chappell

a7 AqeT

Correct Answer: Ravi Shastri
T el

Candidate Answer: Greg Chappell
T A9

QID : 196 - Madhubani Paintings of Bihar are also called

T #ir At Ry & o g &
Options:

1) Gaya paintings

LR INSEER)

2) Bhojpur paintings

AR R

3) Mithila paintings

I IBEIRCECA

4) Darbhanga paintings

g3 Ry

Correct Answer: Mithila paintings

D CIRCEEDR

Candidate Answer: Gaya paintings
LRI CECIr

QID : 197 - Who won the Best Supporting Actress award at the 64th National Film Awards?

64 af T fihed QPRI # TS FErIT 1T F [EhR e feam?
Options:

1) Sonam Kapoor

WA FYT

2) Zaira Wasim

S A

3) Shraddha Kapoor

AT

4) None of these

ST W FIS TAET

Correct Answer: Zaira Wasim
S A

Candidate Answer: Zaira Wasim

ST A

QID : 198 - Who is the author of the book named “Man Eaters of Kumoan™?

Options:

1) Thomas Mann

AAF AT

2) Romain Rolland

AT el

3) Jim Corbett

TSIH Fide

4) Philip Roth

TRferT T

Correct Answer: Jim Corbett

o Fide

Candidate Answer: [ NOT ANSWESSa= - e————— o
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QID : 199 - Which country has been designated as major defence partner of US?

T &2 T HIFT T T FaH 97 F&T Teer e o arar 87
Options:

1) Pakistan

qfehEds

2) France

W

3) India

ART

4) South Africa

gfeyor 3nftenr

Correct Answer: India
AR

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - The Agra-Summit was organized with the aim of resolving long-standing issues between India and

IRT-RIET FFATE AR aur & 1T EreiarTelieT FEl T ol LT S 30T { MATore R I el
Options:

1) Nepal

arer

2) China

AT

3) Pakistan

qifehEdrs

4) Sri-Lanka

icEal

Correct Answer: Pakistan

qIfeRETeT
Candidate Answer: [ NOT ANSWERED ]




